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articles

=
o
[6;]

gP
T IIIIII|

=
(@]
~

Trackin

=
o
w

10? £

10

........................................................................

OJ. VO

Ratl

0.950

—-25

20 15 10—5 O 5 10 15 20 25
TP dxy (cm)

| N of associated tracks (simToReco) vs dxy |

%] [ T
o :
= f 5
:81045_- .....................................
s ’
0 L
5113 o L
ot L0 = e A
O E
o C
1025— ---------------------------------------------------------------------
lOE_ ................................... . .....................................
11N S S 1 Y S S
OJ-.UU:||||.||||.||||.||||!| |!|||!||||.||||.||||.||||
E’ - lHE
1:— ---------------------------- -il%l- -------------------------------

0.95,

—-25

201510 5 0 5 10152025
TP dxy (cm)

—=— DQM_mkFit_baseline

| N of si

mulated trac —— DQM_mkFit_baseline6iter

(%] [
Q
9 L
c10*E
(o] o
§= C
S
< T
s L
|_
10°F
o
10°F

105—

.....................................................................

oL-vo

Rati

0.95

T
g

-30

20 30
TP dz (cm)

=20 -10 0 10

—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3

=
o
w

Reconstructed TPS

=
o
N

Rati

*

20 30
TP dz (cm)

10




	Contents
	Page 1


